

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

Proc Folder: 1313523

Solicitation Description: One-Time Purchase of Structural Steel and Rebar for D9

Proc Type: Agency Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2023-12-07 14:30
 SR 0803 ESR12062300000002701
 1

VENDOR

000000200099

HUNTINGTON STEEL & SUPPLY CO

Solicitation Number: ARFQ 0803 DOT2400000040

Total Bid: 98674.44000000000232830643653 **Response Date:** 2023-12-06 **Response Time:** 10:08:28

Comments:

FOR INFORMATION CONTACT THE BUYER

Amber J Heath 304-414-7105 amber.j.heath@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Dec 7, 2023
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Angle, 3"x3"x1/2"x20'		7520.00	000 LB	0.690000	5188.80
Comm	Code	Manufacturer		Specifica	ation	Model #
30101	504					
Comm	odity Line Comments:					
	odity Line Comments:					
Extend	•					
Extend	ded Description:		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount

Comm Code	Manufacturer	Specification	Model #	
30101504				

Extended Description:

Angle, 4"x4"x3/8"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Angle, 4"x4"x1/2"x20'	5120.0000) LB	0.700000	3584.00

Comm Code	Manufacturer	Specification	Model #	
30101504				·

Commodity Line Comments:

Extended Description:

Angle, 4"x4"x1/2"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Flat, 1/2"x8"x20'	10880.000) LB	0.720000	7833.60

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 1/2"x8"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Flat, 3/4"x8"x20'	8160.000	0 LB	0.720000	5875.20

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 3/4"x8"x20'

Date Printed: Dec 7, 2023 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Flat, 3/8"x3"x20'		1532.0	000 LB	0.710000	1087.72
Comm	Code	Manufacturer		Specifica	ation	Model #
302636	600					
Comm	odity Line Comments:					
Extend	led Description:					
Flat, 3/	8"x3"x20'					
Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Flat, 3/8"x4"x20'		2040.0	000 LB	0.690000	1407.60
Comm	Code	Manufacturer		Specifica	ation	Model #

Extended Description:

Flat. 3/8"x4"x20'

FIAT, 3/8	x4 x20				
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount

8	Flat, 3/8"x6"x20'	3060.0000 LB	0.690000	2111.40	

Comm Code	Manufacturer	Specification	Model #	
30263600				·

Commodity Line Comments:

Extended Description:

Flat, 3/8"x6"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	Flat, 1/2"x3"x20'	2040.000	0 LB	0.690000	1407.60

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 1/2"x3"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Flat, 1/2"x6"x20'	4080.000) LB	0.690000	2815.20

Comm Code	Manufacturer	Specification	Model #	
30263600				

Commodity Line Comments:

Extended Description:

Flat, 1/2"x6"x20'

 Date Printed:
 Dec 7, 2023
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05

Line 11	Comm Ln Desc Flat, 1/2"x10"x20'		Qty 6800.00	Unit Issue	0.750000	Ln Total Or Contract Amount 5100.00
• •	. idi, 1/2 ATO AZO		3000.00		0.70000	0100.00
Comm	Code	Manufacturer		Specifica	ation	Model #
302636	600					
Commo	odity Line Comments:					
	ed Description:					
Flat, 1/2	2"x10"x20'					
Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Flat, 1/2"x12"x20'		8160.00	000 LB	0.760000	6201.60
Comm	Code	Manufacturer		Specifica	ation	Model #
302636	600					
	odity Line Comments:					
	ed Description:					
riat, 1/2	2"x12"x20'					
Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	Flat, 3/8"x10"x20'		5120.00	000 LB	0.740000	3788.80
Comm	Code	Manufacturer		Specifica	ation	Model #
302636	600					
Commo	odity Line Comments:					
Extend	ed Description:					
Flat, 3/8	3"x10"x20'					
Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Flat, 3/8"x12"x20'		6144.00	000 LB	0.750000	4608.00
Comm	Code	Manufacturer		Specifica	ation	Model #
302636	600					
Commo	odity Line Comments:					
	ed Description:					
	3"x12"x20'					
Extend Flat, 3/8	3 X 12 X20		Otv	Unit Issue	Unit Price	Ln Total Or Contract Amount
	Comm Ln Desc		Qty			
Flat, 3/8			2900.00	000 LB	0.720000	2088.00
Flat, 3/8	Comm Ln Desc C4x5/16"x20'	Manufacturer		000 LB Specifica		2088.00 Model #

Extended Description:

C4x5/16"x20'

 Date Printed:
 Dec 7, 2023
 Page: 4
 FORM ID: WV-PRC-SR-001 2020/05

Line Comm Ln Des	c	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount	
16 C7x5/16"x20'		4900.00	000 LB	0.860000	4214.00	
Comm Code	Manufacturer		Specific	ation	Model #	
30101804						
Commodity Line Comm	ents:					
Extended Description: C7x5/16"x20'						
Line Comm Ln Des	c	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount	
17 C9x1/2"x20'		16000.0	000 LB	1.050000	16800.00	
Comm Code	Manufacturer		Specific	ation	Model #	
30101804						
Commodity Line Comm	ents:					
Extended Description: C9x1/2"x20'						
Line Comm Ln Des	c	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount	
18 Plate, 4'x8'x1/4	п	6534.40	000 LB	0.590000	3855.30	
Comm Code	Manufacturer		Specific	ation	Model #	
30264000						
Commodity Line Comm	ents:					
Extended Description:						
Plate, 4'x8'x1/4"						
Line Comm Ln Des	c	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount	
19 Plate, 4'x8'x1/2	."	13068.8	300 LB	0.590000	7710.59	
Comm Code	Manufacturer		Specific	ation	Model #	

Comm Code	Manufacturer	Specification	Model #	
30264000				

Extended Description:

Plate, 4'x8'x1/2"

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
20	Rebar, #3	752.00000	LB	0.860000	646.72

Comm Code	Manufacturer	Specification	Model #	
30103623				

Commodity Line Comments:

Extended Description:

Rebar, #3

Date Printed: Dec 7, 2023 FORM ID: WV-PRC-SR-001 2020/05 Page: 5

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
21	Rebar, #4		1336.0	000 LB	0.550000	734.80
Comm	Code	Manufacturer		Specifica	ation	Model #
301036	23					
Commo	odity Line Comments:					
Extend	ed Description:					
Rebar,	#4					
Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
22	Rebar, #5		2086.0	000 LB	0.580000	1209.88
Comm	Code	Manufacturer		Specifica	ation	Model #
301036	23					
Commo	odity Line Comments:					
Extend	ed Description:					
Rebar,	#5					
Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
23	Flat, 1/2"x4"x20'		2720.0	000 LB	0.690000	1876.80
Comm Code Manufacturer		Specification		Model #		

Extended Description:

Flat, 1/2"x4"x20'

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
24	Plate, 4'x8'x3/8"	9804.8000	LB	0.590000	5784.83

Comm Code	Manufacturer	Specification	Model #	
30264000				

Commodity Line Comments:

Extended Description:

Plate, 4'x8'x3/8"

 Date Printed:
 Dec 7, 2023
 Page: 6
 FORM ID: WV-PRC-SR-001 2020/05

Huntington Steel & Supply Company 100 Third Avenue Huntington, WV 25701

Phone: (304) 522-8218 Fax: 304-522-1824 Website: http://www.huntingtonsteel.com

December 06, 2023 10:07:38AM Page 1 of 3

More than a Century of Service!

Quotation No. 163788

WVDOH-Finance Division-COD Bill To 1900 Kanawha Blvd East

State Capitol Complex / Building 5 Room A220

Charleston, WV 25305-0430

Ship To WV Dept Of Highways DISTRICT NINE - STORAGE LOT 331 BRUSH ROAD

LEWISBURG, WV 24901

ATTN: Amber Heath

Customer P.O. #: Contract:

20

4" @ 7.25# Hot Rolled Channels

Sales 1: Kevin Ingram Terms: Net 30 Days

Quote Date: 12/05/2023 F.O.B.: Delivered Sales 2: Joe Salem

Due Date: 12/21/2023 Ship Via: Our Truck

Pcs	Description	Width	Length	Weight	Price UM	Extension Tax
40	3" X 3" X 1/2" Hot Rolled Angles ASTM A36		20' 0"	7,520	\$0.69 P	\$5,188.80 E
20	4" X 4" X 3/8" Hot Rolled Angles ASTM A36		20' 0"	3,920	\$0.70 P	\$2,744.00 E
20	4" X 4" X 1/2" Hot Rolled Angles ASTM A36		20' 0"	5,120	\$0.70 P	\$3,584.00 E
40	1/2" X 8" Hot Rolled Flats ASTM A36		20' 0"	10,880	\$0.72 P	\$7,833.60 E
20	3/4" X 8" Hot Rolled Flats ASTM A36		20' 0"	8,160	\$0.72 P	\$5,875.20 E
20	3/8" X 3" Hot Rolled Flats ASTM A36		20' 0"	1,532	\$0.71 P	\$1,087.72 E
20	3/8" X 4" Hot Rolled Flats ASTM A36		20' 0"	2,040	\$0.69 P	\$1,407.60 E
20	3/8" X 6" Hot Rolled Flats ASTM A36		20' 0"	3,060	\$0.69 P	\$2,111.40 E
20	1/2" X 3" Hot Rolled Flats ASTM A36		20' 0"	2,040	\$0.69 P	\$1,407.60 E
20	1/2" X 6" Hot Rolled Flats ASTM A36		20' 0"	4,080	\$0.69 P	\$2,815.20 E
20	1/2" X 10" Hot Rolled Flats ASTM A36		20' 0"	6,808	\$0.75 P	\$5,106.00 E
20	1/2" X 12" Hot Rolled Flats ASTM A36		20' 0"	8,168	\$0.76 P	\$6,207.68 E
21	3/8" X 10" Hot Rolled Flats ASTM A36		20' 0"	5,359	\$0.74 P	\$3,965.66 E
21	3/8" X 12" Hot Rolled Flats ASTM A36		20' 0"	6,430	\$0.75 P	\$4,822.50 E

20' 0"

2,900

\$2,088.00 E

\$0.72 P

Huntington Steel & Supply Company 100 Third Avenue Huntington, WV 25701

Phone: (304) 522-8218 Fax: 304-522-1824 Website: http://www.huntingtonsteel.com

December 06, 2023 10:07:38AM Page 2 of 3

Quotation No. 163788

Bill To WVDOH-Finance Division-COD 1900 Kanawha Blvd East

State Capitol Complex / Building 5 Room A220

Charleston, WV 25305-0430

Ship To WV Dept Of Highways DISTRICT NINE - STORAGE LOT

> 331 BRUSH ROAD LEWISBURG, WV 24901

ATTN: Amber Heath

Customer P.O. #: Contract:

Sales 1: Kevin Ingram

Quote Date: 12/05/2023 F.O.B.: Delivered Sales 2: Joe Salem

Due Date: 12/21/2023 Ship Via: Our Truck

Terms: Net 30 Days

Pcs	Description	Width	Length	Weight	Price UM	Extension Tax
	ASTM A36					
20	7" @ 12.25# Hot Rolled Channels ASTM A36		20' 0"	4,900	\$0.86 P	\$4,214.00 E
40	9" @ 20# Hot Rolled Channels ASTM A36		20' 0"	16,000	\$1.05 P	\$16,800.00 E
20	1/4" Hot Rolled Plate ASTM - A36	48"	96"	6,534	\$0.59 P	\$3,855.06 E
20	1/2" Hot Rolled Plate ASTM - A36	48"	96"	13,068	\$0.59 P	\$7,710.12 E
101	3/8" #3 or 10mm Rebar 60		20' 0"	759	\$0.86 P	\$652.74 E
101	1/2" #4 or 13mm Rebar 60		20' 0"	1,349	\$0.55 P	\$741.95 E
100	5/8" #5 or 16mm Rebar 60		20' 0"	2,086	\$0.58 P	\$1,209.88 E
16	1/2" X 4" Hot Rolled Flats ASTM A36		20' 0"	2,176	\$0.69 P	\$1,501.44 E
21	3/8" Hot Rolled Plate ASTM - A36	48"	96"	10,291	\$0.59 P	\$6,071.69 E

Total Weight 135,180

> Subtotal Non taxable \$99,001.84 Subtotal taxable \$0.00

> > \$0.00

Total \$99,001.84

Unloading Instructions

Messages:



Huntington Steel & Supply Company 100 Third Avenue Huntington, WV 25701 Phone: (304) 522-8218 Fax: 304-522-1824

Website: http://www.huntingtonsteel.com

December 06, 2023 10:07:38AM Page 3 of 3

More than a Century of Service!

Quotation No. 163788

Bill To WVDOH-Finance Division-COD

1900 Kanawha Blvd East

State Capitol Complex / Building 5 Room A220

Charleston, WV 25305-0430

Ship To WV Dept Of Highways

DISTRICT NINE - STORAGE LOT

331 BRUSH ROAD

LEWISBURG, WV 24901

ATTN: Amber Heath

Customer P.O. #:

Contract:

Sales 1: Kevin Ingram Terms: Net 30 Days Quote Date: 12/05/2023 F.O.B.: Delivered

Sales 2: Joe Salem

Due Date: 12/21/2023

Ship Via: Our Truck

Pcs Description

Width

Length

Weight Price UM

Extension Tax

INVOICE TO: DISTRICT NINE

146 STONEHOUSE ROAD LEWISBURG, WV 24901

Document ID:ARFQ-0803-DOT2400000040-1

Thank you for your inquiry.